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QUESTION 1

Virtual machines that are known to run read-intensive applications have begun to underperform. Which action can
improve performance? 

A. Enable vFlash Read Cache. 

B. Migrate virtual machines to a VMFS6 datastore. 

C. Ensure that DRS is in manual mode. 

D. Disable virtual machine encryption. 

Correct Answer: A 

 

QUESTION 2

In a vSphere 6.5 cluster, the administrator notices that it is possible to set a percentage in the DRS option, "Control
CPU over-commitment in the cluster." 

Which is the purpose of this setting? 

A. It sets and enforces a maximum percentage of virtual machine CPU usage in GHz in comparison to physical CPU
availability in GHz. 

B. It sets and enforces a maximum ratio in percentage between powered on virtual machine CPUs and available
physical CPUs on hosts. 

C. It prevents the creation of any additional virtual machines in the cluster. 

D. It calculates the total shares assigned to all virtual machines in comparison to GHz of available physical CPU. 

Correct Answer: B 

https://blogs.vmware.com/vsphere/2016/10/whats-new-in-vsphere-6-5-host-resource- management-andoperations.html
"CPU over-commitment: This is an option to enforce a maximum vCPU:pCPU ratios in the cluster. Once the cluster
reaches this defined value, no additional VMs will be allowed to power on." 

 

QUESTION 3

A scripted upgrade of ESXi fails due to an incorrect parameter in the upgrade script. 

What file must the administrator modify to correct the problem? 

A. boot.cfg 

B. vmreconfig.pl 

C. ks.cfg 

D. hostinfo.pl 
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Correct Answer: A 

 

QUESTION 4

Which metric in the Exhibit would identify high latency for a storage device? 

A. KAVG/cmd 

B. DAVG/cmd 

C. GAVG/cmd 

D. QAVG/cmd 

Correct Answer: B 

 

QUESTION 5

Which is the predefined user name when publishing a Content Library? 

A. admin 

B. root 

C. administrator 

D. vcsp 

Correct Answer: D 
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